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UL | Sinte Oli's Low ond mention it limiwtions, £o3
1) | Sinte KirehhofIs eurrent Law and Kirchhoffs voltage Law with example. oyl

i
on.

"""""" 2. n) | Doline I,M.S value, Avernge value, peok fncior anil form factor of an alternating quantity, o1 !
© )| List the mdvantages of three phase system, Co1

iil) Power dissipated in the 7 £ resistors for the circuit shown in Fig.1.
il
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125V

J Fig.1
s h_) Find the value of resistance ‘R’ a5 shown in fig.2 so that current drawn from the

source is 250mA,
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OR ;
4. a) | For the bridge circuit shown in fig 3. Calculate current in all the branches and power | ~ CO3
consumed in the circuit. :
B e : e
: Caleulate the currents in the network shown in fig 4. Using branch currents method, co3
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Show that the average power consumed in a purely inductive circuit is zero. Draw
the vollage, current and power waveform,

co2

OR

Show that an R-C series circuit takes a leading current. Draw the phasor diagram
indicating the supply voliage, current and the two voltage drops.

CO2

Two impedances (150-157j) £ and (100+110j) © are connected in parallel across 200V,

CO3

50Hz supply. Find branch currents, total current and power consumed in the eircuit. Draw
the phasor diagram.
A series circuit with a resistor of 100£2, cepacitor of 25uF and inductance of 0.15 H is
connected across 220 V,; 50Hz supply. Caleulate impcdanw current, power and power
faclor of the circuit.

COo3

OR

Compute power, power factor and line'turrent in a balanced 3 phase star connected
system drawing power from 440 V supply in which two wattmeter connected
indicate W, = SkW and W>=1.2kW.

A balanced 3-phase star connected load of 150kW takes a leading current of 100A,
with a line voltage of 1100 V, 50 Hz. Find the circuit constants of the load per

phase.

CO3
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Show that in a 3-® star- connected, the line voltages is 3 times of the phase
voltage, Also indicate the equation for three phase power.

co2

OR

10,

Show that in a balanced 3-® circuit, two watt meters are sufficient to measure the

r

| 3-® power. Also develop an expressioy: for power factor in terms of wattmeter
| readings,

COz




